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Econ 210 Quiz 3 Utility, Businesses, and Stock Markets   Fall 2002   

1. The Optimal Purchase Rule for consumers is violated when  MUA/PA < MUB/PB  where the marginal utilities (MU) and product prices (PA and PB) are for goods A and B respectively. Which correction makes best sense as a strategy to maximize utility?

A. increase Good A and decrease Good B

(B. decrease Good A and increase Good B

C. decrease both goods

2.  Suppose Tim’s marginal utility per dollar for oranges is 0.75, and his marginal utility per dollar for apples is 0.90, if he is to maximize utility Tim should do which of the following?

(A. purchase an apple in priority over purchasing an orange

B. purchase an orange in priority over purchassing an apple

C. none of the above

3. The "efficient markets theory" of the stock market implies which of the following pieces of investment advice given normal functioning of the market?

A. it is difficult for a regular investor to do better than to pick his portfolio of stocks just by "throwing darts"

B. opportunities for profits will be quickly "gobbled up" because many other investors will spot them also

C. news of an accident that damages a corporation's assets will be rapidly incorporated into the firm's stock price

D. when attractive stocks are quickly bought up by eager investors, this drives the stock price up so that later investors will make a lesser gain if any.

(E. all of the above

4. Most of the firms in the United States are 

A.  (proprietorships

B.  partnerships

C.  corporations

D.  government enterprises

5. Which of the following is true regarding the Standard and Poors 500?

A. it is a broad index of the stock market

B. it is similar in purpose to the "Dow Jones Industrial Average"

C. this index tends to outperform most stock market experts (called "advisors")

(D. all of the above

6. The purpose of the Merton and Scholes equation was to

A. make money for Merton and Scholes

(B. reduce investor risk through hedging dynamically

C. identify top performing stocks and options

D. identify future market conditions

7.  Which form of business organization has the best potential to raise investment capital quickly?

A. proprietorship

B. partnership

(C. corporation

8. Returns on investments in corporations are doubly taxed, once as corporate taxes and once as

A.  excise taxes

B.  tarrifs

C.  (income taxes

9. The company joined by Merton and Scholes (Black had passed away by this time) was called Long Term Capital Management (LTCM).  If they had gone completely bankrupt, the total value of equity that their investors stood to lose was approximately

A.  1.25 million dollars

B.  1.25 billion dollars

(C.  1.25 trillion dollars

D. one dollar and twenty five cents

10. On a hot workday, Fred will pay as much as $2.70 for a cold Pepsi, but he finds a machine selling cold Pepsi for $1.25.  Which of the following accords with his demand and consumer surplus theory?

A. His consumer surplus is 2.5x1.25=3.125 dollars

B. (His consumer surplus is $1.45

C. His consumer surplus is the $2.70

D.  He would not buy a Pepsi from the machine

11. Suppose Tim’s marginal utility for oranges is worth $0.75.  Then he walks into Farmer Jack and spots a sign saying “Oranges, $0.40 a piece.”  If he follows Optimal Purchase Rule theory, which is predicted to happen?

A. he will buy two dozen oranges, at least.

B. he will switch from oranges to a substitute fruit, such as bananas.

(C. he will buy an additional (compared to what he already had) orange, at least

D. he will try to sell his own oranges (what he already had) to passersby

12.  There are really two ideas of modern economic theory that help to solve the diamond-water paradox posed by Adam Smith (“Why does water—essential to life—sell so cheaply while diamonds sell dear?):  Which of the following pairs of ideas best apply?

A. the large supply of water & the definition of utility

B. the large demand for water & and the small demand for diamonds

C. (the large supply of water & and the “Law of Diminishing Marginal Utility”

D. the large supply of diamonds and the small supply of water

13.   The income effect (the direction of change in the quantity

 demanded when real income increases) of a price reduction
(A. will be negative for an inferior good

B. will take the same sign as the substitution effect  Petros:  Please ask the students to delete answer B from these options.  SF
C. will usually lead to less consumption of both goods (in a two good world)

D. means the same thing as the utility of the market basket

14. Which of the following is true?

A. the Black and Scholes theorem eliminates all risk from the options market

(B. stocks with greater risks tend to earn higher returns 

C. the stock market has delivered weak to poor returns over the 20th century

D. stock ownership implies unlimited liability for the company's debts

E. selling new stock is the major source of new investment funds for the typical American firm

15. Which of the following best describes a fact or assumption under the efficient markets theory?

A. the stock market processes new information very rapidly

B. stock prices will move around their trend line in a random fashion

C. stock prices move in a "random walk"

D. commonly shared information usually cannot be turned into abnormal returns (extra large) on the stock market

(E.  all of the above are true

16.  Which of the following most accurately describes the cause for the debacle of LTCM, the company formed to apply the Black and Scholes theorem?

A. the Black and Scholes theorem is incorrect

B. the Black and Scholes theorem recommends buying excessively risky options

(C. the application of Black and Scholes by LTCM neglected the effect of systematic, market wide and even world wide risk

D. the government caused the problem by making unwise interventions

17. Utilitarianism is best described by which of the following?

A. the utilitarians add up individual utilities

B. the utilitarians make interpersonal comparisons of individual utilities

C. the utilitarians describe utility as a metric (cardinal) measure

(D. all of the above

E. none of the above

18. The leading early advocate of utilitarianism was which of the following?

A. Adam Smith

B. John Locke

(C. Jeremy Bentham

D. Thomas Jefferson

E.  David Hume

19.  An "option" in the stock market is which of the following instruments?

A. it allows the holder to buy stocks without brokerage fees

(B. it can be either a right to purchase or to sell a stock at an agreed price

C. it represents cash holdings by stock market players

D. it is not a stock market term, it refers to Hollywood purchasing practices

E.  it is just another name for a stock

20. The stock markets are secondary markets in stocks and do not generate new capital.  However they perform an economic service.  Which of the following is correctly one of the economic services performed by a stock market?

A. it provides a backup to the initial public offerings (IPOs)

B. it provides an economic valuation of firms

(C. both of the above

D. none of the above

